



On the Entire Solutions of a Nonlinear Differential Equation of Hayman

Caiping Zhuo¹, Zanchun Wang² and Weiran Lü^{1*}

¹ China University of Petroleum, Qingdao 266580, P. R. China.

² Dongying Vocational College, Dongying 257000, P. R. China.

Article Information

DOI: 10.9734/BJMCS/2015/14212

Editor(s):

(1) Paul Bracken, Department of Mathematics, University of Texas-Pan American, USA.

Reviewers:

(1) Anonymous, Bangladesh.

(2) Sergey Smirnov, Institute of Mathematics and Computer Science, University of Latvia, Latvia.

Complete Peer review History:

<http://www.sciencedomain.org/review-history.php?iid=727&id=6&aid=6910>

Original Research Article

Received: 23 September 2014

Accepted: 14 October 2014

Published: 14 November 2014

Abstract

Aims/ objectives: Hayman [1] proposed to study the meromorphic solutions of nonlinear differential equations of the form:

$$f f'' - (f')^2 = k_0 + k_1 f + k_2 f' + k_3 f'',$$

where k_j ($j = 0, 1, 2, 3$) are constants. In this note, by using a new method, we give a unified and simplified proof for these known results.

Keywords: Entire solutions; differential equation; Nevanlinna theory

2010 Mathematics Subject Classification: 34A20; 30D35

1 Introduction and Main Results

In this paper, we shall adopt the standard notations in Nevanlinna's value distribution theory of meromorphic functions. For example, the characteristic function $T(r, f)$, the counting function of the poles $N(r, f)$, and the proximity function $m(r, f)$ (see, e.g., [2], [3] and [4]).

The behavior of meromorphic solutions of differential equations has been the subject of much study. Research has concentrated on the value distribution of meromorphic solutions and their rates

*Corresponding author: E-mail: luwr@upc.edu.cn

of growth. The purpose of the present paper is to show that a thorough search will yield a list of all meromorphic solutions of a multi-parameter ordinary differential equation introduced by Hayman. Hayman [1] proposed to study the meromorphic solutions of nonlinear differential equations of the form:

$$f f'' - (f')^2 = k_0 + k_1 f + k_2 f' + k_3 f'', \tag{1.1}$$

where k_j ($j = 0, 1, 2, 3$) are constants. By letting $\omega = f - k_3$, the differential equation (1.1) can be rewritten as

$$\omega \omega'' - (\omega')^2 = \alpha \omega + \beta \omega' + \gamma, \tag{1.2}$$

where α, β, γ are constants.

The major result concerning the order of growth of meromorphic solutions of first-order differential equations is the following theorem due to Gol'dberg [5]. A generalization of Gol'dberg's result to second-order algebraic equations has been conjectured by Bank [6]. Steinmetz [7] proved related results for any second-order polynomial equation which is homogeneous in its dependent variable and its derivatives. Chiang and Halburd [8] studied the Hayman's equation, and they obtain the following results.

Theorem A If not both α and γ are zeros and $\beta \neq 0$, then the meromorphic solutions of (1.2) are

$$\omega(z) = c_1 \exp\left(\frac{\alpha z}{a_{\pm}}\right) - \frac{\gamma}{\alpha}, \text{ if } \alpha \neq 0,$$

and

$$\omega(z) = c_1 + a_{\pm} z, \text{ if } \alpha = 0,$$

where c_1 is a constant, and $a_{\pm} = \frac{-\beta \pm \sqrt{\beta^2 - 4\gamma}}{2}$.

Theorem B If $\beta = 0$, then the general solution of (1.2) is given by

$$\omega(z) = \begin{cases} c_1 \exp(\pm i \frac{\alpha z}{\sqrt{\gamma}}) - \frac{\gamma}{\alpha}, & \text{if } \alpha \neq 0; \\ c_1 \pm i \sqrt{\gamma} z, & \text{if } \alpha = 0; \\ \frac{1}{c_1^2} [\alpha + \sqrt{\alpha^2 + \gamma c_1^2} \cosh(c_1 z + c_2)] & \text{where } c_1 \neq 0; \\ -\frac{\alpha}{2} z^2 + c_2 \alpha z - \frac{\gamma + c_2^2 \alpha^2}{2\alpha}, & \text{if } \alpha \neq 0, \end{cases}$$

where c_1, c_2 are constants.

Theorem C If $\alpha = \gamma = 0$, then the general solution of (1.2) is given by

$$\omega(z) = \begin{cases} c_1 e^{c_2 z} + \frac{\beta}{c_2}, & \\ -\beta z + c_1, & \\ 0, & \end{cases}$$

where c_1, c_2 are constants.

However, their proofs are complicated. In this note, by using a new method, we give a unified and simplified proof for these known results. Specifically, our main results can be stated as follows:

Theorem 1.1 If $\gamma \neq 0$, consider the solutions of (1.2), we would have

$$\omega(z) = \begin{cases} c \exp\left(\frac{\alpha z}{a_{\pm}}\right) - \frac{\gamma}{\alpha}, & \alpha \neq 0; \\ a_{\pm} z + c, & \alpha = 0, \end{cases}$$

where c is a constant, and $a_{\pm} = \frac{-\beta \pm \sqrt{\beta^2 - 4\gamma}}{2}$.

Theorem 1.2 If $\gamma = 0$, consider the solutions of (1.2), we would have

- (1) If $\alpha \beta \neq 0$, then $\omega(z) = c e^{-\frac{\alpha}{\beta} z}$, here c is a constant;
- (2) If $\alpha = 0$, then

$$\omega(z) = \begin{cases} c_1 e^{c_2 z} + \frac{\beta}{c_2}, & \\ -\beta z + c_1, & \\ c_1, & \end{cases}$$

where c_1, c_2 are constants.

(3) If $\beta = 0$, then

$$\omega(z) = \begin{cases} c_1 e^{\sqrt{A}z} + c_2 e^{-\sqrt{A}z} - \frac{\alpha}{A}, & A \neq 0; \\ -\frac{\alpha}{2}z^2 + c_1 z + c_2, & A = 0, \end{cases}$$

where c_1, c_2 are constants such that $c_1^2 + 2\alpha c_2 = 0$ if $A = 0$ or $4c_1 c_2 A^2 = \alpha^2$ if $A \neq 0$.

2 Lemmas and Proofs of Theorems

The following lemma is crucial to the proof of our theorems.

Lemma 2.1 [3]. Let f be a meromorphic solution of an algebraic equation

$$P(z, f, f', \dots, f^{(n)}) = 0, \tag{2.1}$$

where P is a polynomial in $f, f', \dots, f^{(n)}$ with meromorphic coefficients small with respect to f . If a complex constant c does not satisfy equation (2.1), then

$$m(r, \frac{1}{f-c}) = S(r, f).$$

In order to prove the results, we also need the following lemma.

Lemma 2.2 [4]. Let h be a non-constant entire function, and $f = e^h$, then

$$T(r, h) = o(T(r, f)), \quad T(r, h') = S(r, f).$$

Proof of Theorem 1.1.

Since $\gamma \neq 0$, then (1.2) and Lemma 2.1 imply

$$m(r, \frac{1}{\omega}) = S(r, \omega). \tag{2.2}$$

By the Nevanlinna's first fundamental theorem and (2.2), we get

$$N(r, \frac{1}{\omega}) = T(r, \omega) + S(r, \omega),$$

which, with (1.2), gives

$$N_{(1)}(r, \frac{1}{\omega}) = T(r, \omega) + S(r, \omega), \tag{2.3}$$

where $N_{(1)}(r, \frac{1}{\omega})$ denotes the counting function corresponding to simple zeros of ω .

Let $\omega(z_0) = 0$, then z_0 is a zero of $(\omega')^2 + \beta\omega' + \gamma$, and thus

$$(\omega'(z_0) - a_+)(\omega'(z_0) - a_-) = 0$$

with $a_+ = \frac{-\beta + \sqrt{\beta^2 - 4\gamma}}{2}$, $a_- = \frac{-\beta - \sqrt{\beta^2 - 4\gamma}}{2}$.

First, we assume that $\omega'(z_0) - a_+ = 0$, and set

$$h_1 = \frac{\omega' - a_+}{\omega}.$$

Next we will show that h_1 is a constant.

To prove this assertion, we first prove h_1 is a small function of ω . In fact, (2.2) and (2.3) give $m(r, h_1) = S(r, \omega)$.

By considering the order of any pole of ω in (1.2), we can check that there exists no possibility for such a pole, as shown in [9] and therefore all solutions are entire, and $N_{(2)}(r, \frac{1}{\omega}) = S(r, \omega)$, where $N_{(2)}(r, \frac{1}{\omega})$ denotes the counting function corresponding to multiple zeros of ω . Thus, $N(r, h_1) = S(r, \omega)$, and $T(r, h_1) = S(r, \omega)$.

Moreover, it follows by the definition of h_1 that

$$\omega' = h_1\omega + a_+, \quad \omega'' = (h_1' + h_1^2)\omega + h_1a_+,$$

which, with (1.2), gives $h_1' \equiv 0$, and $h_1 = \frac{\alpha}{a_-}$. Thus, $\omega' - a_+ = \frac{\alpha}{a_-}\omega$, and we have $\omega(z) = c \exp(\frac{\alpha z}{a_-}) - \frac{\gamma}{\alpha}$, if $\alpha \neq 0$ or $\omega = a_+z + c$, if $\alpha = 0$, where c is a constant.

If $\omega'(z_0) - a_- = 0$, we set

$$h_2 = \frac{\omega' - a_-}{\omega}.$$

In the same way, we get $\omega = c \exp(\frac{\alpha z}{a_+}) - \frac{\gamma}{\alpha}$, if $\alpha \neq 0$ or $\omega = a_-z + c$, if $\alpha = 0$, where c is a constant.

This completes the proof of Theorem 1.1.

Proof of Theorem 1.2.

To prove Theorem 1.2, now we distinguish three cases to discuss.

Case 1. $\alpha\beta \neq 0$. Since $\gamma = 0$, it follows by (1.2) that

$$\omega\omega''' - \omega'\omega'' = \alpha\omega' + \beta\omega'',$$

this gives

$$(\omega'' + \alpha)(\omega')^2 = \omega\omega'\omega''' - \beta\omega'\omega''. \tag{2.4}$$

From (1.2) and (2.4), we get

$$\omega[(\omega'')^2 - \omega'\omega''' - \alpha^2] = \alpha\beta\omega'. \tag{2.5}$$

Note that all the solutions of (1.2) are entire functions, by (2.5), we see that $\omega \equiv 0$ or $\omega = e^h$, in which h is an entire function.

Substituting $\omega = e^h$ into (2.5), we have

$$\{[(h')^2 + h'']^2 - h'[3h'h'' + (h')^3 + h''']\}e^{2h} = \alpha^2 + \alpha\beta h'. \tag{2.6}$$

By the standard Valiron-Mohon'ko lemma (see, e.g., [10]), Lemma 2.2 and (2.6), we obtain $h' = -\frac{\alpha}{\beta}$ and so

$$\omega = ce^{-\frac{\alpha}{\beta}z},$$

where c is a constant.

Case 2. $\alpha = 0$. In this case, (1.2) gives $\omega\omega'' = \omega'(\omega' + \beta)$, thus $\omega = c_1$, or $\omega = -\beta z + c_1$, or

$$\frac{\omega''}{\omega' + \beta} = \frac{\omega'}{\omega},$$

and so

$$\omega = c_1 e^{c_2 z} + \frac{\beta}{c_2},$$

where c_1, c_2 are constants.

Case 3. $\beta = 0$. From (1.2), we conclude

$$\left[\left(\frac{\omega'}{\omega}\right)^2\right]' = -2\alpha\left(\frac{1}{\omega}\right)',$$

this leads to

$$\left(\frac{\omega'}{\omega}\right)^2 = -\frac{2\alpha}{\omega} + A, \tag{2.7}$$

where A is a constant.

Again, by (1.2) and (2.7) we find

$$\omega'' - A\omega + \alpha = 0,$$

which gives

$$\omega = \begin{cases} c_1 e^{\sqrt{A}z} + c_2 e^{-\sqrt{A}z} - \frac{\alpha}{A}, & A \neq 0; \\ -\frac{\alpha}{2}z^2 + c_1 z + c_2, & A = 0, \end{cases}$$

where c_1, c_2 are constants such that $c_1^2 + 2\alpha c_2 = 0$ if $A = 0$ or $4c_1 c_2 A^2 = \alpha^2$ if $A \neq 0$.

This completes the proof of Theorem 1.2.

Acknowledgment

The authors would like to thank the referee for his/her reading of the original version of the manuscript with valuable suggestions and comments. This work was supported by the research funds of China University of Petroleum (No.14CX06085A).

Competing Interests

The authors declare that no competing interests exist.

References

- [1] Hayman WK. The growth of solutions of algebraic differential equations. *Rend. Mat. Acc. Lincei, Ser.* 1996;9(7):67-73.
- [2] Hayman WK. *Meromorphic functions*. Clarendon Press, Oxford; 1964.
- [3] Laine I. *Nevanlinna theory and complex differential equations*. Walter de Gruyter, Berlin/New York; 1993.
- [4] Yi HX, Yang CC. *Uniqueness theory of meromorphic functions*. Science Press, Beijing; 1995.
- [5] Gol'dberg AA. On single valued solutions of first order differential equations. *Ukrain. Mat. Zh.* 1956;8:254-261.
- [6] Bank SB. Some results on analytic and meromorphic solutions of algebraic differential equations. *Adv. Math.* 1975;15:41-61.

- [7] Steinmetz N. Über das Anwachsen der Lösungen homogener algebraischer Differentialgleichungen zweiter Ordnung. *Manuscripta Math.* 1980;3:303-308.
- [8] Chiang YM, Halburd RG. On the meromorphic solutions of an equation of Hayman. *J. Math. Anal. Appl.* 2003;281:663-677.
- [9] Liao LW. On Hayman's differential equations. *Complex Variables and Elliptic Equations.* 2011;56:147-153.
- [10] Yang CC. On deficiencies of differential polynomials II. *Math. Z.* 1972;125:107-112.

©2015 Zhuo et al.; This is an Open Access article distributed under the terms of the Creative Commons Attribution License <http://creativecommons.org/licenses/by/4.0>, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Peer-review history:

The peer review history for this paper can be accessed here (Please copy paste the total link in your browser address bar)
www.sciencedomain.org/review-history.php?iid=727&id=6&aid=6910